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NNPEAUCJIOBUE

VYueOHo-npakTHueckoe Mnocodue «TecToBbli KOHTPOJIb 3HAHUM IpU
o0y4eHuu NnpodeccuoHaNbHO OPUEHTUPOBAHHOMY KYpCy MHOCTPAHHOIO SI3bIKa
B 0OpazoBatenbHbIX opranuzanusax MBJI Poccun» HaneneHo Ha popMupoBaHue
YHUBEPCAIbHBIX KOMITETCHIINH B obnactu 1po(heCCUOHATILHOTO
B3aMMOJICUCTBUS HA MHOCTPAHHOM SI3bIKE M IIOMOTAeT OCYIIECTBUTh TEKYIIUN U
IPOMEXYTOUHBIM ~ KOHTPOJb  (OPMUPOBAHUS  CIOCOOHOCTH  NPUMEHSThH
COBPEMEHHbIE KOMMYHUKATUBHBIE TEXHOJIOTMH, CIIOCOOHOCTH aHAIU3UPOBaTh U
YUUTBIBATh  pa3HOOOpasve  KyJbTyp B  MPOLECCE  MEXKKYJIbTYPHOIO
B3aMMOJICHCTBHSI PU YCBOEHUH 00YUYaIOUIMMUCS MPOrPpaMMHOIO MaTepuara.

B nepsom pasmene «TecTel Ha OmNpenesieHWE YPOBHS OCTATOYHBIX
3HAHUW», IPEIACTABIICHBI TECTOBBIE 3aJaHUS U1 AUArHOCTUPOBAHUS YPOBHS
3HaHWEBOM  0a3bl  KypcaHTOB M  clymaTened  mepel  oOydeHueM
npo(hecCHOHANBHO  OPUEHTHPOBAaHHOMY KypCy HMHOCTPAHHOTO Si3bIKa B
oOpa3zoBaTtenbHbIX opranuzanusx MB/] Poccun.

Broponn pasmen «TecTel 1 TPEHUPOBKM U TPOBEPKU YCBOCHUA
MaTtepuana npoheccuoHaIbHO OPUEHTUPOBAHHOTO Kypca HHOCTPAHHOTO SI3bIKa»
BKJIFOYAET 33/IaHUSI HA TPEHUPOBKY SI3BIKOBOT'O M PEYEBOr0 MaTepHUaa, a TaKKe
IIPOBEPKY CTEMEHU COOTBETCTBUS 3HAHWUW, YMEHMU M HABBIKOB TPeOOBAaHUSIM
paboueil mporpamMmsbl 0 THOCTPAHHOMY SI3BIKY.

B tpetbem paznene «Kmrouu 1 caMOIpPOBEPKU» COAECPIKATCSA OTBETHI HA
TECThl TOCOOMSI, TMOCKOJbKY OHHM MOTYT OBITh HCIOJB30BAaHbI B KaueCTBE
TPEHUPOBOYHBIX W  NPOBEPOYHBIX BHUAOB  JEATEIBHOCTH B  PEKHUME
CaMOCTOSITENIbHOI pabOThl 00YyYarOIIUXCSI.

Hcnonb3oBaHue OTHEABHBIX 33JaHM MU TECTOB JAHHOTO Yy4eOHO-
IPAKTUYECKOr0 MOCOOMsI MO3BOJISIET Pa3BUBATh JIMHIBUCTHYECKHE 3HAHUA U
YMEHHsSI KypCaHTOB U CIymiaTesned B OOJAcCTH aHTIUICKOrO S3bIKa ITyTEM
ONpeZeNieHUus] COOTBETCTBHMSI YPOBHS YCBOEHHUS 3HAHUM  0O0ydYarommxcs
3aIIaHUPOBAHHBIM PE3yJIbTaTaM OCBOEHHUS pabdouell MporpaMMbl AUCIUILIMHBI,
YTO, HECOMHEHHO, CIOCOOCTBYE€T KOHEYHOM LIeNM OBJAJCHUS HOpPMaMu
COIIMOKYJIBTYPHOIO MOBEJICHUS U OOILLEHUS Ha MHOCTPAHHOM SI3BIKE.



PA3JIEJI 1. TECTbI HA ONPEAEJIEHUE YPOBHSI
OCTATOYHbBIX 3HAHUH

Tect 1

/IBa cjioBa, mpeacTaBJeHHbIX B BapuHaHTax a), b), mpou3HocsTCA
OJJUHAKOBO, HO HMMEIT pa3Hoe 3HadeHue M opdorpaduro (oModoHBI).
Bri0epuTe npaBWJIbLHbIN BAPUAHT.

1. The spent the in the castle.

a) knight b) night

2. Be sure to your surname on the line.

a) write b) right

3. Have you heard the fairy about the cat with no ?

a) tale b) tail

4. Didn’t you Ann ask you to put the plate :

a) here b) hear

5. The on a is called fur.

a) hare b) hair

6. Yesterday the sky was clear and the wind from the north.

a) blue b) blew

7. He decided to his new belt, but he doesn’t know he put it.

a) where b) wear

8. From hundred flowers the prince had to find the fake flower
before it was late.

a) too b) two

9. Itis not if some people do not pay their bus

a) fair b) fare

10. The coach announced which of the teams the game.

a) won b) one

11. We brought a of cool water to the traveler.

a) pail b) pale

12. Do you always the skin off a before you eat it?

a) pare b) pear

13. The Indians wrote the treaty on a of bark.

a) piece b) peace

14. After his illness John felt for a

a) week b) weak

15. The boat sailed through the :

a) straight b) strait



Tect 2

N3yunTe Hanucanue ing-GpopmMbl aHIVIMHCKOrO IJ1arojia U BbiOepure
BEPHbI BapHaHT.

1. to make

a) makeing b) making
2.to live

a) liveing b) living

3. to play

a) playing b) plaing

4. to run

a) runing b) running

5. to lie

a) lieing b) lying ¢) liying
6. to care

a) careing b) caring

7. to carry

a) carrying b) caring

8. to get

a) geting b) getting

9. to tie

a) tieng b) tying c) tiying
10. to begin

a) begining b) beginning
11. to shop

a) shoping b) shopping
12. to copy

a) copying b) coping

13. to visit

a) visiting b) visitting

14. to control

a) controling b) controlling
15. to happen

a) happening b) happenning

Tect 3

N3yunTe cTenenn cpaBHeHHs NMPUJIATaTeJbHbIX U BblOepuTe BepHbI

BapHaHT.
1. pretty
a) prettyer b) prettier
prettiest prettyest
c) prettier d) pretter
prettiest prettest
2. cold



a) colder
coldest

c) coldder
colddest
3. young
a) youngier
youngiest
c) younger
youngest
4. rude

a) ruderer
ruderest
c¢) ruder
ruderest
5. hot

a) hoter
hoter

¢) hoter
hoterest
6. thing
a) thiner
thinnest
¢) thinner
thinnerest
7. red

a) redder
reddest

c) redier
rediest

8. easy

a) easyer
easiest

c) easer
easerest
9. late

a) later
latest

c) latier
latiest

10. good
a) gooder
best

c) better
best

11. bad
a) worse

b) coldier
coldiest

d) colderer
colderest

b) younger
youngerest
d) youngerer
youngerest

b) ruderer
rudest

d) ruder
rudest

b) hotterer
hottest

d) hotter
hottest

b) thiner
thinerest
d) thinner
thinnest

b) reder
redest

d) reddier
reddiest

b) easier
easiest

d) easerer
easerest

b) latter
latterrest
d) laterer
laterest

b) gooder
goodest
d) goodier
goodiest

b) worser
7



worst worsest

c¢) badder d) bader

baddest badest

12. far

a) farer b) farther

farest farthest

c) farier d) fartherer

fairest fartherest
TecT 4

Bbi0epuTe BepHbIid BAPUAHT.
1. We ....future investigators.
a) am

b) is

c) are

2.1sJohn ....... lawyer?
a)a

b) the

c) -

3. 4eThIpHAAUATh

a) forteen

b) fourteen

c) forty

4. HOXH

a) knifes

b) knives

c) knifs

5.15:10

a) ten past fifteen a.m.

b) ten past three a.m.

c) ten past three p.m.

6. general question

a) They are good students?
b) Are they good students?
c¢) Good students are they?
7. tag-question

a) You had a lecture on Civil Law last week, isn’t it?
b) You had a lecture on Civil Law last week, didn’t you?
¢) You had a lecture on Civil Law last week, aren’t you?

8. over-

a) He

b) co

C) CBEpX, Iepe-

9. The Future Simple



a) We hope we’ll pass our English examination.

b) We’ll be interviewing an eye-witness at 5 tomorrow.
c) We’re coming to the meeting next Wednesday.

10. They ....... many special subjects every day.

a) study

b) studies

c) studi

11.....he.... the film about John Edgar Hoover yesterday?
a) do.... watch

b) did ....watched

c¢) did ....watch

12. Moii 6paT He ObLT BUepa B UHCTUTYTE.

a) My brother didn’t be at the institute yesterday.

b) My brother wasn’t at the institute yesterday.

c) My brother weren’t at the institute yesterday.

13. The lecture on the Sign Language is ....Saturday.
a) in

b) at

c) on

14. Where is my laptop? — It’s ...the bag (B).

a) on

b) in

c) at

15. He .....the East-Siberian Institute a year ago.

a) enter

b) entered

c¢) will entered

16. My friends ... arrive in New York... a week.

a) will, at

b) did, in

c) will, in

17. 5 nomxeH oCMOTPETh AOCTOMPUMEYATETLHOCTH CETOTHSL.
a) [ must go sightseeing today.

b) I may go sightseeing today.

c¢) I must to go sightseeing today.

18. The police car always ........ well.

a) works

b) is work

¢) is working

19. They have studied the Criminal Law ....last year.
a) for

b) since

c) on

20. John ... a bicycle when he was five but he ... ride it.
a) have got, is

b) had, can



c¢) didn’t have, couldn’t

21. Moscow is .... birthplace.

a) herself

b) her

c) hers

22. Which one is correct?

a) They are often on guard duty.

b) They often are on guard duty.

c) They are on guard duty often.

23. There ...... good gyms in our city to work out.
a) are any

b) is any

c) are some

24. They are not in. They ........... the city now.
a) explore

b) are explore

c) are exploring

25. Soho......... a rather dirty area back then.

a) be

b) used to be

c) have been

26. — Is the population of the USA .......... than three thousand people?
—Yes, it ...........

a) morere, has

b) the most, is

c) more, is

27.WhenI........... around Trafalgar Square, someone ........ my purse.
a) walked, stealed

b) was walking, stole

c) was walking, stealing

28. 1.l to London on Tuesday. Look at my tickets.
a) am flying

b) is going to fly

c) fly

29. Ifyou ...... all the material, you ................ this test.

a) will learn, will pass

b) will learn, pass

c) learn, will pass

30. There is ....... time left. Do it quicker, please.
a) little

b) few

c) a little
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PA3JIEJI 2. TECTBI 1JII TPEHUPOBKHU U ITPOBEPKH
YCBOEHUA MATEPUAJIA IPOPECCHUOHAJIBHO
OPUEHTUPOBAHHOI'O KYPCA HHOCTPAHHOI'O A3BIKA

Test 1. Variant 1

Choose the correct item.

1. Do you study Law?

a) Yes, [ am.

b) Yes, I do.

c) Yes, it is.

2. Are you writing an sms now?

a) No, I am.

b) No, I am not.

c¢) No, itisn’t.

3. Does the US President hold office for four years?
a) Yes, he does.

b) Yes, he was.

c) Yes, it is.

4. Do your parents work in police?

a) Yes, they is

b) Yes, they are.

c) Yes, they do.

5. Are you mastering defensive tactics now?

a) No, [ isn’t.

b) No, [ am not.

c) No, I don’t.

6. Did you live in Britain?

a) No, [ isn’t

b) No, I am not

¢) No, I didn’t.

7. How often do Russians elect their president?
a) Every six years.

b) Every four years.

c) Every three years.

8. Who exercises the executive power in the USA?
a) Congress

b) Senate

c) President

9. What does the legislative power belong to in the US?
a) President and Vice-President

b) Congress

11



c¢) Cabinet

10. The parade ....... at 12.

a) begin

b) is begin

c) begins

11. acupaHT / aAbIOHKT

a) freshman

b) graduate

¢) postgraduate

12.We ............ very busy yesterday.
a) were

b) was

c) did

13. Ona Obl1a B MHCTUTYTE BUepa’?

a) Did she be at the Institute yesterday?
b) Was she at the Institute yesterday?
c) Were she be at the Institute yesterday?

14. Last month Nick ......... very busy.

a) were

b) was

c) did

15...you.......... abook......... last night?
a) Do....read, on

b) Did....read, -

c¢) Will.... read, at

16. Cembst IBaHOBBIX OOBIYHO HE YKUHAET B 7.

a) The Ivanovs don't usually have dinner at 7.

b) The Ivanovs usually didn't have dinner on 7.

¢) The Ivanov’s usually will have dinner in 7.

17. The money is........... the bag (B).

a) in

b) at

c) on

18. Who was the first American president?

a) Abraham Lincoln

b) George Washington

c¢) Theodore Roosevelt

19. How many constituent entities are there in Russia?
a) 87

b) 85

c) 86

20. How many deputies does the State Duma consist of?
a) 450

12



b) 520

c) 380

21. What happens if the selected Chairman's candidate is rejected three
times by the State Duma?

a) The President dissolves the State Duma.

b) The President announces the elections.

c) All above mentioned actions.

22. How many federal ministers are there in Russia?

a) 20

b) 21

c)22

23. Don’t disturb (memats) him! He ................ now.

a) was shooting

b) were shooting

c) is shooting

24. —Cadets (shoot) every day? — No, only once a week.

a) Are cadets shoot every day?

b) Is cadets shoot every day?

c¢) Do cadets shoot every day?

25. They don't work ....the weekend.

a) in

b) at

c) on

26. OHM AONPOCUIIU TTO03PEBAEMBIX B MPOIILIYIO CPEY.

a) They interrogate suspects next Wednesday.

b) They do interrogate suspects last Wednesday.

c¢) They interrogated suspects last Wednesday.

27. While the jury................ the case, another witness ........ in court.

a) are discussing, appeared

b) were discussing, appeared

c) are discuss, appear

28. They .......... the criminal to prison at midnight.

a) are taking

b) is taking

c) take

29. —Where ..... captain Serov? —He ........... the witness at the moment.

a) 1s, are interrogating

b) is, is interrogating

C) was, was interrogating
30. oOy4JaeMbIii

a) instructor

b) studies

c) trainee

13



31. The New Year is....December, 31.

a) in

b) at

c) on

32. ITonuuus oxpaHsiia 3aKoH 1 nopsaok B Coun?
a) Did police protect law and order in Sochi?

b) Police protected law and order in Sochi?

c) Are police protecting law and order in Sochi?
33. Great Britain has ... .

a) an unwritten constitution.

b) a constitution.

c) a statute law.

34. We .... already .... “The First Aid”.

a) have studied

b) did study

¢) are study

35. oOBHUHSIEMBII

a) suspect

b) witness

c) accused

Test 1. Variant 2

Choose the correct item.

1. Are you on guard duty today?
a) No, [ am not.

b) Yes, I do.

c) Yes, it is.

2. Was Sasha on sport competitions last week?
a) Yes, he was.

b) Yes, it was.

c) Yes, he is.

3. Does Mr. Putin run Russia?

a) Yes, he do.

b) Yes, he is.

c¢) Yes, he does.

4. Are your parents working now?
a) Yes, they is.

b) Yes, they are.

c) Yes, they do.

5. What are you doing now?

a) I doing the test.

14



b) I do the test.

¢) I’'m doing the test.

6. What time do the lessons finish?

a) At half past one p.m.

b) At half to two a.m.

c) At half past two a.m.

7. When was the USA formed?

a) 1823

b) 1787

c) 1776

8. Who can the president of the USA be?

a) Natural-born citizen, resident in the country for 14 years, at least 35
years old.

b) Natural-born citizen, resident in the country for 15 years, at least 33
years old.

c) Natural-born citizen, resident in the country for 16 years, at least 36
years old.

9. What does the Congress consist of?

a) The Senate and the House of Representatives.

b) Cabinet and several executive departments.

c¢) President and Vice-President, heads of departments.

10. Who is the Deputy Chairman in Russian Government?

a) V.I. Matvienko

b) D.A. Medvedev

¢) none of them

11. ...cadet Ivanov ... English or German?

a)Is ... studies ...?

b) Are ... study .....?

c) Does ... study ....... ?

12. Cadets ....... crimes, they only ........ how to do it.

a) don’t solve, study

b) not solve, studying

c) aren’t solve, studied

13. Tomorrow they ........... very busy, I think.

a) were

b) is

c) will be

14. Bbl BuAenu ero Ha MpoIuion Heaene?

a) You see him on last week?

b) Do you see him last week?

c¢) Did you see him last week?

15. We will come ... Tuesday.

a) in

15



b) at

c) on

16. ...they....policemen ... 4 or 5 years?

a) Were ... -, -

b) Do ... study, at

c) Will ....be, in

17. Onu ceityac mpoBOJAT OCMOTP MECTa MPOUCIIECTBUA?

a) They are searching a crime scene now?

b) Are they searching a crime scene now?

c) Were they searching a crime scene now?

18. Who does the Congress consist of?

a) The Senate and the House of Representatives.

b) The Cabinet and several executive departments.

c¢) 2 members from each state chosen by popular vote.

19. Barack Obama was the ... .

a) 38™ President

b) 44™ President

c) 46™ President

20. In Russia the branches of government are checked by......

a) the Prime Minister

b) the President

c¢) the Government and federal ministers

21. The Executive power in Russia is exercised by...........

a) the Federation Council

b) the Federal Assembly

¢) the Government

22. Who proposes candidates for the posts of deputy chairmen and federal
ministers to the President in our country?

a) The Chairman of the Government.

b) The President and the State Duma.

c¢) The State Duma.

23. Next month Nick ......... very busy, I think.

a) will be

b) was

c) will

24.The house is............ the park (3a)

a) above

b) behind

¢) in front of

25 i the table there is chair (psaom).

a) above

b) next to

¢) in front of

16



26. Do you master defensive tactics at the ESI?

a) Yes, [ am.

b) Yes, I do.

c) Yes, it is.

27. What is the final instance for civil and criminal cases in Russia?
a) The Constitutional Court

b) The Supreme Court

c) All the Courts

28. The Russian Federation is ....

a) a constitutional monarchy

b) a democratic republic

c) a presidential republic

29. While the policemen ...... the premises, someone ..... three times.
a) are searching, shooted

b) were searching, shot

c) search, are shooting

30. Last month they ..... on guard duty.
a) were

b) was

c) did

31. The book is....... the table (nox)
a) above

b) under

c) on

32. government

a) TOCy1apCTBO

b) npaBUTEIHECTBO

C) mTar

33. We ..... the witness before the police .... .
a) haven’t seen, will arrive

b) hadn’t seen, arrived

c¢) didn’t see, arrived

34. Cadet Ivanov is..... of all

a) stronger

b) the strongest

c) strong

35. 3aKOHOJaTENbHBIN

a) executive

b) judicial

c) legislative

17



Test 1. Variant 3

Choose the correct item.

1. Was it Friday yesterday?

a) Yes, [ am.

b) Yes, it was.

c) Yes, it is.

2. Does Sasha speak Chinese?

a) No, he isn’t.

b) No, he does.

¢) No, he doesn’t.

3. Is the USA a leading superpower?

a) Yes, it does.

b) Yes, it was.

c) Yes, it is.

4. Do cadets attend all the lessons?

a) Yes, we don’t.

b) Yes, they are.

c) Yes, they do.

5. Do you acquire much knowledge here?
a) Yes, we don’t

b) Yes, they are.

c) Yes, we do.

6. Is your farther detecting a criminal at the moment?
a) No, he isn’t.

b) No, he does.

c¢) No, he doesn’t.

7. Are there three branches of government in Russia?
a) Yes, there is.

b) Yes, there be.

c) Yes, there are.

8. Is Great Britain a Presidential Republic?
a) No, itisn’t.

b) No, it is.

c) Yes, it is.

9. Has Britain got President?

a) No, it has.

b) No, it has not.

c) No, it doesn’t.

10. How often do Americans elect their president?
a) Every six years.

b) Every four years.

c) Every three years.
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11. The USA is a federal republic composed of ...

a) 50 states.

b) 48 states.

c) 49 states.

12. Legislative power in Russia belongs to...

a) the Government.

b) the Accounts Chamber.

c) the Federal Assembly.

13. What does the Federal Assembly consist of?

a) The Federation Council and the State Duma.

b) The Government.

c¢) The Accounts Chamber.

14. What does the Government of the RF consist of?

a) The Prime Minister, the Chairman and the federal ministers.
b) The Chairman, deputy chairmen and the federal ministers.
c¢) The Prime Minister and the federal ministers.

15. The Chairman's candidate in our country is appointed by....
a) the President and Vice-President.

b) the President with the consent of the State Duma.

c¢) the State Duma.

16. What does the judicial branch of power consist of in Russia?
a) Civil, administrative, criminal legislation.

b) The Supreme Court.

c¢) Court system, civil, administrative, criminal legislation.
17. How often is the presidential election held in the US?
a) Every 5 years.

b) Every 4 years.

c) Every 7 years.

18. Who is the Vice-President in the US?

a) President of the Senate.

b) Commander-in-chief.

c¢) The chief of the President’s Cabinet.

19. Who forms the President’s Cabinet?

a) 435 members elected every second year.

b) The heads of the executive departments.

c) The representatives of the Senate.

20. What does the House of Representatives consist of?

a) Cabinet and several executive departments.

b) 2 members from each state chosen by popular vote.

c) 435 members elected every second year.

21. What is the population of the USA?

a) 321 million.

b) 143.5 million.
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c¢) 127.3 million.

22. Last week Nick .......... on sport competitions.
a) were

b) was

c) did

23, YOU vvvnnannnnn. everyday?

a) Do....work

b) Did....worked

c) Will....working

24. Look! The criminal .............. We should catch him.
a) was running away

b) were running away

C) is running away

25. They .... driving a car.

a) enjoy

b) are enjoying

c) enjoyed

26. —What ....you ...... now? —I ... my friend.
a) are do, calling up

b) are doing, am calling up

c¢) do you do, am call up

27. HenpenyMbIIIIIEHHOE YOUMCTBO
a) manslaughter

b) murder

c) larceny

28. poCT MPECTYyITHOCTU

a) crime increase

b) crime detection

b) detect crime

29. pa3bICKMBaTh MPECTYTHUKA

a) prevent a crime

b) detect a criminal

c) solve a crime

30. How often is the presidential election held in the RF?
a) Every 6 years.

b) Every 4 years.

c) Every 7 years.

31. Whenhe.............. a crime scene, the police car ...............

a) was searching, arrived

b) were searching, arrive

c) searched, arrived

32. npenoTBpamaTh NPeCTyTHOCTh
a) fight criminal
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b) detect crime

) prevent crime

33. We always........ computer games.

a) will be played

b) is played

c) play

34. OnHu ceityac MpoOBOJAT OCMOTP MeCTa MPOUCIIECTBUSA?
a) They are searching a crime scene now?
b) Are they searching a crime scene now?
c) Were they searching a crime scene now?
35. UCTIOJTHUTEIIbHBIN

a) executive

b) judicial

c) legislative

Test 2. Variant 1
Grammar

Fill in the correct item.
1. Witnesses ... evidence in court.

a) present b) presents c) don’t present
2. Who ... responsible for the crime?

a) do b) is c) has

3. Now he ... the offender.

a) searches b) search c) is searching
4. Jane ... red hair when she ... five.

a) have got, is b) has got, was c¢) didn’t have, was
5. Alice ... twelve years old last year. She ... a student.

a) were, isn’t b) was, wasn’t c) is, wasn’t

6. He ... confidential information about a crime today.

a) hasn’t got b) doesn’t has c¢) didn’t have

7. A: — ...Becky like chocolate?
B: — Yes, she loves chocolate.

a) Do b) Don’t c) Does
8. There ... a patrol car in front of the house yesterday.

a) are b) was c) has

9. ... you examine a crime scene?

a) Could b) Have you got c) Can
10. There ... two museums of Decembrists in Irkutsk.

a) are b) were c) have
11. The investigator ... the offender at the moment.

a) detecting b) is detecting c) detects
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12. ... you apprehend the offender when you weren’t a policeman?

a) Can b) Could c) Have

13. There ... any traces on the floor last week.

a) were b) weren’t c) aren’t

14. ... the offender know the witness?

a) s b) Do c) Does

15. —Where are the witnesses? — ... are at the crime scene.

a) We b) They c) He

Vocabulary

1. Choose the correct word.

1. Tony is an investigator. He can establish proof/charge of guilt.

2. There were only donkeys/big ferry boats on Inishmore 50 years ago.
3. I’'m angry/hungry today. I’ll have a sandwich.

4. We always wear heavy jackets/swimming costumes when we go skiing.
5. The hotel Angara is behind/opposite the bank.

2. Choose the correct item.
1. He should also be skilled in such policeman's functions as ..., driving a
patrol car, communicating with the public.

a) committing the crime b) dedication c¢) marksmanship
2. Chikatilo is ... .

a) a witness b) a modus operandi ¢) an evil-doer
3. The investigator brings a charge against ... .

a) the witness b) the suspect c) the prosecutor
4. The investigator makes a plan on which he records the position of ...

a) any offender b) any trace c) any crime

5. Irkutsk was founded in 1661 at ... of two rivers — the Angara and the
Irkut by the Cossacks under the leadership of Yakov Pokhabov.

a) the wooden fortress b) the junction c) the great
historic route

3. Fill in the missing preposition.
1. The solution of crime depends ... proper special training, education and
selection of police officers.

a) on b) at c) -

2. Irkutsk is the capital ... Eastern Siberia.

a) at b) for c) of

3. A police officer operating ... plain clothes often comes to know
personally the offenders.

a) on b) in c) with

4. The White house is ... the corner of Lenin and K. Marx St.
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a) by b) of c) on
5. Irkutsk geographical position was very convenient ... diplomatic links.

a) of b) at c) for
6. The museum is ... the park and the theatre.
a) at b) between c) through

7. The informant gives the police officer confidential information ... a
crime.

a) about b) at c) for
8. He usually takes pictures ... the scene.
a) of b) behind c) for

9. The small trade settlement gradually developed ... a large commercial
centre.

a) in b) into c) for

10. He searches the premises and persons ... discovery of stolen property
and instruments of the crime.

a) about b) into c) for

4. Match the English words to the corresponding Russian equivalents
(Example: 2-6).

1. was founded 1. BBIMCKHMBATH

2. identify 2. BBIABUTATh OOBUHEHUE

3. bring a charge 3.HaceseHue

4. prosecution in court 4. npuiiedb OTJOXHYTh

5. take anap 5. yCTaHaBJIMBATh JUYHOCTh
6. population 6. OBLT OCHOBAH

7. ferret out 7. cyneOHOE OOBUHECHHE
Communication

1. Choose the correct word to fill in each gap.

l....... the weather like?

a) Where’s b) What’s c) How is

2. —I’ve got the hiccups.

a) Calm down. b) Take a nap. c¢) Drink some water.
3. —What time is it?

a) It’s Monday. b) It’s a quarter to five. c¢) It’s autumn.
4. — Are there wooden houses in Irkutsk?

a) Yes, they are. b) Yes, it is. c) Yes, there are.
5. — Are you investigating the crime now?
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a) Yes, I do. b) Yes, I am. c) Yes, I can.

2. A. Use words to write the time.
a) b) C) d)

VEEOEEVENC

B. Use numbers to write the numerals.

I. one million two hundred and sixty-five thousand and
thirteen......................

2. three thousand and thirty-eight...........................ooal.

3. fifty-eight million nine hundred and twenty seven thousand and four

C. Use numbers to write the date (Example: 06.09.2007).

1. the seventh of July, nineteen hundred

2. the thirty-first of December, two thousand and seven

3. the fifth of November, nineteen “O” one

Test 2. Variant 2

Grammar

1. Fill in the correct item.
1. Witnesses ... to reconstruct the happening in court.

a) help b) helps c) don’t help

2. Irkutsk ... founded in 1661.

a) had b) was Cc) were

3. At the moment he... the premises.

a) searches b) search c) is searching

4. John ... a bicycle when he was five but he ... ride it.

a) have got, is b) had, can c¢) didn’t have, could

5. Irkutsk ... a large commercial centre then. It ... a student city many
years ago.

a) were, isn’t b) was, wasn’t c) is, wasn’t
6. He ... some sleuthing powers, he is intelligent and courageous.
a) doesn’t have b) has got c) didn’t have
7. A: — ... apolice officer perform his job well?

B:—Yes, he ... .
a) do, do b) doesn’t, do c) does, does
8. ... you work with the informants?
a) could b) have you got c) can
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9. There ... some pictures of the crime scene on the table one hour ago.

a) are b) was c) were
10. There ... a circus in Irkutsk.

a) are b) were c)is

11. The investigator ... an evil-doer at the moment.

a) is apprehending b) apprehending c) apprehends
12. There ... any proofs of guilt some weeks ago.

a) were b) aren’t c) weren’t
13. Where is the policeman? — ... is in court.

a) we b) they c) he

14. ... good investigators understand the people very well?
a)is b) do c) does

15. ... you present the criminal case for the prosecution in court when you
weren’t an investigator?

a) can b) could c) have

Vocabulary

1. Choose the correct word.
. The White house in Irkutsk is behind/opposite the monument to the

[E—

Tsar.
. I have a headache/ toothache today. I’ll take an aspirin.
. The sun is raining/ shining. It’s a sunny day.
. Tony is an investigator. He can interview film stars/witnesses.
. There were only supermarkets/green fields on Inishmore 50 years ago.
. Choose the correct item.
1. Irkutsk is now an important economic, scientific, industrial and cultural
... of Eastern Siberia.
a) wooden fortress b) centre c) great historic route
2. The investigator examines all the evidence to establish ... against the
person responsible for a crime.

N D BN

a) the prosecution in court b) proof of guilt c) the suspect

3. Highly professional policemen should possess ... , courage,
intelligence, competency, self-command, etc.

a) committing the crime b) dedication c) a shooting
range

4. The investigator collects and protects ...

a) evidence b) an offender c) a crime

5. Bitsevsky maniac is ... .

a) an evil-doer b) a field criminalist c) a witness
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3. Fill in the missing preposition.

1. The settlement was built in the middle ... the great historic route across
Asia from the Urals to the Pacific Ocean.

a) of b) at c) for

2. To ferret ... serious crimes and detect those who commit them a police
officer should do his best in performing his job.

a) about b) out c) into

3. He should be skilled in such policeman's functions as marksmanship,
driving a patrol car, communicating ... the public.

a) - b) with c) for
4. The Linguistic University is ... Kirov Square.
a) opposite b) in the centre of c¢) on the corner of

5. A police officer makes a plan on which he records the position ... any
trace.

a) on b) in c) of
6. Irkutsk is the capital ... Eastern Siberia.
a) at b) for c) of

7. The solution of crime depends ... proper special training, education and
selection of police officers.

a) on b) at C) -

8. An investigator brings a charge against the suspect and presents the
criminal case ... the prosecution in court.

a) of b) behind c) for

9. The theatre is ... the shop and the library.

a) next to b) opposite c) between

10. The professional policeman establishes contacts ... the public.
a) in b) for c) with

4. Match the English words to the corresponding Russian equivalents
(Example: 2-6).

1. was divided 1. cpbIBaTh TUIaHBI

2. locate 2. T0Ka3aTeJILCTBO BUHEI

3. proof of guilt 3. yCIoKanuBaThCs

4. a suspect 4. mogo3peBaeMblii

5. calm down 5. yCcTaHaBIMBAaTh MECTOHAXOXK/ICHHUE
6. wooden fortress 6. IepeBsiHHAs KPETIOCTh

7. frustrate 7. ObLI pa3aenéH

Communication

1. Choose the correct word to fill in each gap.
1. —Is he examining the crime scene at the moment?
a) Yes, he is. b) Yes, he can. c¢) Yes, he does.
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2. —Is there a park in front of your house? — ...

a) Yes, it is. b) Yes, it has. ¢) Yes, there is.

3. —My nose itches. ...

a) Calm down.  b) Scratch it. c¢) Drink some water.
4.—...... the temperature today?

a) Where’s b) What’s c) How is

5. —What time is it? ...

a) It’s Friday. b) It’s summer. c) It’s half past two.

2. A. Use words to write the time.
a) b) 9) d)

CHEEYEECENSY

B. Use numbers to write the numerals.

1. three million four hundred and twenty-three thousand and eleven

2. eight thousand one hundred and thirty-three

3. ninety-eight million five hundred and twelve thousand and fourteen

C. Use numbers to write the date (Example: 06.09.2007).
1. the thirtieth of June, sixteen hundred

2. the twenty-second of January, two thousand and one

3. the fourth of August, nineteen “O” eight

Test 3. Variant 1

Choose the right item.

1. legally

a) noun

b) verb

c) adverb

2. She ....to London next week.
a)is flying

b) is fly

c) flies

3. cpencTBo, crnocod

a) condition

b) means

c) protection

4. The Economic Security Department is to ...
a) prevent juvenile delinquency.
b) combat tax frauds.

c¢) regulate traffic.
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5. br...bery

a)y

b)i

c)a

6. 08:45

a) a quarter past eight p.m.

b) a quarter to nine a.m.

c) half past eight a.m.

7. special question

a) Did he collect evidence last week?

b) Who collected evidence last week?

c¢) He collected evidence last week, didn’t he?
8. ....he...... manslaughter in future?

a) Will ..... detect ...

b) Shall .... detects ...

c) Will ..... detecting ...

9. OMON was founded in ... .

a) 1972

b) 1979

c) 1980

10. the Future Progressive

a) The candidates will be taking a final test next morning from 8 to 10 o’clock.
b) The candidates are passing medical control in room 312.
c¢) The candidates of OMON will get a lot of professional skills.
11. He has been on duty detail.....6 hours.
a)since

b)for

c) at

12. the verb “suspect”

a) They suspect him of fraud.

b) The suspect wasn’t there.

c¢) Did they find the suspected man?

13. J. Edgar Hoover was ... .

a) the Chief of British Police

b) the British Home Secretary

¢) the first FBI director

14. “mis”-

a) HEJ0-, HEBEPHO

b) cBepx, nepe-

) OBIBIIMIT

15. a synonym to “combat”

a) intervene

b) fight

c) blow up

16. The house .... we lived last year is in the centre.
a) what
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b) where
c) who

17. Besides regular patrol work, police duties also include crime prevention

activities.

a) Kpome perynspHpIx mnaTtpyniei, MONMMIEHCKUN 00s3aH aKTUBU3UPOBATh

paboTy 1o MPOPUITAKTUKE MPECTYTHOCTH.

b) 3a WHCKIIOUEHHEM PETYJSIpHON NaTPyJbHOM paboThl, B OO0S3aHHOCTH

MOJIUIEHCKOTO BXOAUT MPEAOTBPAIICHUE TPECTYTHOCTH.

c) Kpome perynsipHoit maTpyJIbHOM pabOThI, B 00S3aHHOCTH IOJIMIIEHCKOTO
BXOJIMT JIEATEILHOCTb 110 MPEIOTBPAIICHUIO TPECTYITHOCTH.
18. A body of men called as Special Constabulary exists in ... .

a) America
b) Russia
c¢) England

19. This article is dedicated to ........ a meeting in Bolotnaya square.

a) broken up

b) break up

c) breaking up

20. increasing ........
a) nuclear

b) riot squad

C) pressure

Test 3. Variant 2

Choose the right item.

1. personal

a) noun

b) verb

c) adjective
2. Oh, my God! You .... always........ bad news!
a) bring

b) are bring

c) are bringing

3. mpuKa3bIBaTh, TPEOOBATH
a) possess

b) reveal

c) require

4. The main function of the Public Order Department is to ... .

a) prevent crime and improve police/public relations
b) combat tax frauds

c¢) regulate traffic

5 . ac...ident

a) x

b) s
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c) ¢

6. 23:30

a) a quarter past twenty-three p.m.

b) half past eleven p.m.

¢) half to eleven a.m.

7. You will work at the Organized Crime and Terrorism Department, ...
a) isn’t it?
b) aren’t you?

c) won’t you?

8. special question

a) When will you be interrogating a suspect tomorrow?
b) Will you be interrogating a suspect tomorrow at 3?

c) You will interrogate a suspect tomorrow, won’t you?

9. The Ministry of the Interior of Russia was created in ... .

a) 1876

b) 1802

c) 1980

10. the Past Progressive

a) He was training the members of OMON when the alarm started.
b) He passed a lot of psychological tests.

c¢) He’ll be training the cadets tomorrow at 6.

11. We have taken part in sport competitions ... 4 years.

a) for b)since  ¢)on

12. the adjective “criminal”

a) They traced the group and identified the criminal.

b) He wasn’t involved in a criminal business.

¢) A man who commits a crime 1s a criminal.

13.......... founded the Metropolitan Police.

a) J. Edgar Hoover

b) Sir Robert Peel

¢) Usama Bin Laden

14. “ex”-

a) HeJ0-, HEBEPHO

b) cBepx, nepe-

) OBIBIIHIA

15. Choose a synonym for the word “international”.

a) transnational

b) national

¢) complex

16. The cadets ....are not at the lesson are preparing for the parade now.
a) which

b) who

c) when

17. The sheriff is also responsible for prisoners kept in jail.

a) lllepud Taxxe oTBEeHaeT 3a OOBUHIEMBIX, COAECPIKAIIUXCS B TIOPHME.
b) Hlepud Takke oTBeUaeT 3a 3aKIIOUYCHHBIX, COJICPIKAIIUXCS B TFOPbME.
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c¢) lepud Takke HeceT OTBETCTBEHHOCTh 3a TIOPEMHYIO CITyKOy.
18. One unique feature of police in ..... is the system of territorial patronage
over citizens.
a) America
b) Russia
c¢) England
19. Our regular ......... makes us strong.
a) trainer
b) training
c) train
20. cross-border .....
a) authority
b) roll call
c) crime

Test 3. Variant 3

Choose the right item.

1. employable

a) noun

b) verb

c) adjective

2. The car always ........ well.

a) works

b) is work

c¢) is working

3. yacTHasi COOCTBEHHOCTD

a) mutual efforts

b) private property

¢) juvenile delinquency

4. The task of the Criminal Investigation Department is to ...
a) combat crime.

b) improve police/public relations.

c) prevent, investigate and detect crimes.

5.fr....d
a) o

b) au

c) ou

6. 15:10

a) ten past fifteen a.m.

b) ten past three a.m.

c) ten past three p.m.

7. general question

a) Do you defend personal security of citizens?

b) What do you defend personal security of citizens?
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¢) You defend personal security of citizens, don’t you?

8. You had a lecture on Criminal Law last week, ...

a) isn’t it?

b) didn’t you?

c) aren’t you?

9. The Russian Police was founded ......

a) on November, 10, 1917

b) in November, 10, 1817

c) at December, 10, 1947

10. the Future Simple

a) We hope we’ll pass our English examination.

b) We’ll be interviewing an eye-witness at 5 tomorrow.

c)  We’re coming to the meeting next Wednesday.

11. They have studied the Criminal Law ....last year.

a) for

b)since

c) on

12. the noun “accused”

a) They’ve accused him of bribery.

b) Was the accused innocent?

c) Who accused the innocent man?

13.There are .... police services in Great Britain.

a) 62

b) 52

c) 58

14. “over”-

a) He-

b) co-

C) CBepX-, nepe-

15. an antonym for the word “illicit”

a) decreasing

b) easy

c) legal

16. My friend ..... name is Alex studies at this institute.

a) who

b) whose

c¢) which

17. Do you know any international organizations fighting crimes?

a) Be1 3HaeTe opranu3aiyy, KOTOPEIE MPEIOTBPAIIAIOT MPECTYTHOCTh?

b) BrI 3HaeTe kakue-HUOY1b HAIIMOHATLHBIE OPraHU3allii, KOTOPbIE TOOOPOIIH
MPECTYNHOCTb?

c) Bbl 3Haere kakue-HHOyAb MEXIYHApPOIHBIC OPTraHMU3AINH, KOTOPBIC
OOpIOTCS C IPECTYTHOCThIO?

18. The model for the American police originated in...

a) America

b) Russia
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c¢) England

19, o took him 2 years.
a) solve a crime

b) solving a crime

¢) he solved a crime

20. obedient .......

a) proportions

b) citizens

c¢) headquarters

Test 4. Variant 1

I. Choose the correct variant of the modal verb.

1. You (ue nomxusl) drive without a license. It is against the law.

a) mustn’t b)can’t c¢)won’t be able to

2. She (moruna) identify the criminal by his photograph.

a) may b) should c) was able to

3. The jury (moxert) hear certain evidence.

a)could b)can C) may

4. A good lawyer (cienyet) be competent in human psychology.

a) haveto b)should c)isto

5. The defendant’s witnesses (momxHbI) give evidence in court on
Tuesday.

a) must b) could c¢) are to

II.  Choose the correct variant of translation.

1. The members of the jury should not decide the questions of law.

a) [Ipucsoxubie He OyyT paccMaTpUBaTh BOIIPOCHI MpaBa.

b) UneHsl cyna NpUCSKHBIX HE JOJHKHBI pacCMaTpPUBaTh BOMPOCHI MPaBa.

¢) UseHsl cyna MPUCSKHBIX HE MOTYT 00CY>K/1aTh BOIIPOCHI ITpaBa.

2. A judge may interrupt a trial when it is necessary.

a) Ecnu cynibst 3ax04eT, OH MpepBET CyAeOHbBIN mpoliecc.

b) B ciryyae He0OXOAUMOCTH CYAbs IPEPBET CYAOHBIN ITpoiiecc.

c) Cymps MOXET TpepBaTh CYACOHBIA TPOIECC, €CId B 3TOM €CTh
HEO0OXOIUMOCTb.

3. In criminal cases, all jurors must agree that the defendant is guilty.

a) Ilpm paccMoTpeHWH YTOJOBHBIX JI€7T BCE NPHUCSHKHBIC TOJDKHBI
COTJIACUTBCS C TEM, UTO MOJICYAUMbIA BUHOBEH.

b) Tak kak mNOACYAMMBIA MPOXOAWJ IO YrOJOBHOMY JEly, BCE
MPUCSKHBIEC MPU3HAIIA €0 BUHOBHBIM.

c¢) IIpu paccMoTpeHur YyroJOBHBIX JIeJ BUHA MOJCYJAMMOTO MOXET OBbITh
YCTaHOBJICHA BCEMU MPUCSKHBIMHU.
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4. A juror is to listen to all the evidence presented at the trial and to decide
what really happened.

a) Jloar mpucsyKHOTO — CaylaTh U NPEIbSIBISTh BCE J0Ka3aTEIbCTBA BO
BpeMsi CyZIeOHOTO MpoIiecca, a TaKKe pellaTh, 4YTO MPOU30ILI0 HAa CaMOM Jeie.

b) IlpucskHblli TOJKEH CIyHIaTh BCE MPEJCTaBICHHbIE Ha CYJIeOHOM
MPOIIECCE TOKA3aTeIbCTBA U PEIIaTh, YTO MPOU30IILIO HA CAMOM JIeTIe.

¢) IlpucsbxHbIN AOHKEH MPUCYTCTBOBATH HA Cy1e0HOM Mpolecce U
CIIyIIaTh BCE JOKA3aTeNIbCTBA, YTOOBI PEIINTh, YTO IPOU3OIILIO Ha CAMOM JIEJE.

5. As the legal adviser was very experienced, he was able to give advice
to his clients on many problems.

a) Kak 1opucKkoHCYIBT OH MOXKET JaTh COBET CBOMM KJIMEHTaM MO0 MHOTHM
npoOemMam.

b) Kak OpHUCKOHCYNBT, W TMpUYEM OYEHb ONBITHBIA, OH HMEET
BO3MOXKHOCTb JIaTh COBET CBOMM KJIMEHTaM [0 MHOTMM IMPOOJIeMaM.

c) Tak KaK IOPUCKOHCYJBT ObUI OYEHBb OIBITHBIN, OH MOI JaTb COBET
CBOMM KJIMEHTaM I10 MHOTUM MpodemMam.

II1. Choose the correct variant of the adjective.

1. One of ... functions of the police is apprehending criminals.
a) more important b) important c¢) the most important

2. Solicitors are able to appear in ... court cases.

a) much b) less ¢) many

3. ... court of appeal in England and Wales is the Court of Lords.
a) More high b) Higher c¢) The highest

4. About 30.000 magistrates judge cases in ... courts.

a) lower b) more low c) the lowest

5. This crime was more difficult to solve ... the first one.

a) as b) that c¢) than

IV. Choose the correct word to fill in each gap.
I. In each criminal case you hear, the judge will tell you all the
elements of the crime that must be ... .
a) proved b) guilt c) verdicts
2. Many things you will see and hear during the ... are evidence.
a) the accused b)offences c¢) trial
3. The judge is to ... justice and conduct the trial.

a) send b) administer c) limited
4. Besides, the judge “decides the law” and passes the ... .
a) sentence b) recovery  c¢) negligence

5. The prosecutor must prove that the defendant is guilty, while the lawyer
must prove his ... .
a) property  b) fines ¢) innocence
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Test 4. Variant 2

I. Choose the correct variant of the modal verb.

1. All judges who commit criminal offences (;1oyKxHBI) resign.
a) should b) can c)isto

2. The barrister (cmor) prove the innocence of the accused.

a) had to b) was able to c) was to

3. The judiciary (mnomxHa) be entirely independent of the government.
a) are to b) could ¢) must

4. Solicitors (He MoryT) represent cases in the higher courts.
a) could not b) cannot c) are able to

5. A solicitor in England (nomxen) spend two years as an articled clerk.
a) have to b) can c) must

I1. Choose the correct variant of translation.

1. No one — not even the sovereign — can control or influence the courts’
operations and decisions.

a) Hukto — HU Jaxke CyBepeH — MOXET KOHTPOJIUPOBAaTh WM BIMATH Ha
OTepallvy U PEIICHUS CY/a.

b) HukTo — naxke eciu CyBepeHHBIM — HE JOJKEH KOHTPOJIMPOBATH WITU
BIIMATH Ha ONEpPAIUU U PEIICHUS Cya.

¢) Hukto — naxe cyBepeH — HE MOXKET KOHTPOJIHMPOBATh WIIM BIMATH HA
JEUCTBUS U PELIEHUS CYI0B.

2. The magistrates’ courts may impose fines up to 5000 pounds for each
offence.

a) MupoBblie cyapl MOTyT Hanarath mrpadsl B pazmepe 10 5000 pyHToB
CTEPJIMHIOB 32 KaXX/10€ HapyIIeHUE.

b) MupoBsie cyapu cmoriu mTpadoBath B pazmepe 5000 dyHTOB 32
KQ)KJI0€ TAKOE HAPYIICHHE.

c) MupoBeiM cyapsiM HeobxomuMo 1mTpadoBath cymmoin 5000 3a
1noA00HOE MTpaBOHAPYIIIECHHE.

3. As well as “guilty” and “not guilty”, a jury may reach a verdict of “not
proven”, which means that the accused person cannot be punished but is not
completely cleared of guilt either.

a) Ilomrumo “BHHOBEH” M “HEBMHOBEH NPHUCSHKHBIA JOJDKEH BBIHECTH
BEPJMKT “HE JI0Ka3aHO’, U OOBHHSEMbIH HE MOXKET ObITh HaKa3aH, HO U HE
MOJIHOCTBIO ONIPABJIAH.

b) Ilomumo “BuHOBEH” W ‘“HEBHMHOBEH’ TIPUCSHKHBIE MOTYT BBIHECTU
BEPJUKT ““HE JIOKa3aHO’, YTO O3HA4YaeT, YTO OOBHUHSICMBIA HE MOXKET OBIThH
HaKa3aH, HO U HE MOJHOCTHIO OMpPaB/IaH.

c) [loMmumo “BUHOBEH” U ‘““HEBHHOBEH’ JKIOPU MPHUCSHKHBIX, BO3MOXKHO,
BBIHECET BEPJUKT “HE JIOKa3aHO’’, UTO O3HAYaeT, YTO OOBUHSEMBIM HE JOJIKEH
OBITh HM HaKa3aH, HU MOJHOCTHIO OMpPaBaH.
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4. Most civil law proceedings can be brought either in the County Court
or in the High Court.

a) BoJIBIIMHCTBO Tpa)kKAaHCKUX HMCKOB MOTYT OBITh BO30YXIEHBI JHUOO B
OKpPY’KHOM cyJie, 6o B BricokoMm cye.

b) MHorue rpaxxJaHcKue UCKHU CliefyeT Bo30yx aaTh 100 B KaKOM-THOO
cylie cTpaHsl, 1100 B Beicokom cyje.

¢) BOaBIIMHCTBO TIpa’KJAaHCKUX 3aKOHOB MOTYT OBITh OCYLIECTBJICHBI B
OKPY>KHOM CyJie, 100 B Cy/i€ BBIIECTOSIIECH NHCTAHIIUH.

5. A local authority may also appoint a stipendiary magistrate, who must
be a professional lawyer of at least five years’ standing.

a) ABTOpPUTETHBIC TMPEACTABUTEIN BIIACTHU MOTYT TaKXKEe Ha3HAYUTh
MarucTpaHTa, MOJyYarolero CTUIEHINI0, KOTOPBIA OyJeT nMpodeccuoHaTbHBIM
IOPUCTOM C OIBITOM pa0OTHI MOCJIE MATH JIET B JOHKHOCTH.

b) MecTHble BIacTH MOTYT TaKKe€ HA3HAYUTh IJIATHOTO MAarmcrpaTta,
KOTOPBIN JOJIKEH OBbITh MPO(eCCHOHAIBHBIM IOPUCTOM C OMBITOM PabOThI HE
MEHEE IISTHU JIeT.

c) MectHas BmacTh OyAeT TakKe HMCKaTh MarucTpara CO CTHUIICHIIUCH,
KOTOPBIH ObLT Mpo(heCCHOHATBHBIM FOPUCTOM C OTBITOM padOThI O0JIee TSATH JIET.

II1. Choose the correct variant of the adjective.

1. The High Court of Justiciary is the ... criminal court in Scotland, sitting
in Edinburgh, Glasgow and on circuit in other towns.

a) more supreme b) supreme ¢) most supreme

2. The legal system is one of the ... British institutions.

a) traditionalest ~ b) much more traditional c) most traditional

3. In Russia, there are forty institutions of ... education in law (either a
law school attached to a university or a separate entity called a “juridical
institute”).

a) more high b) higher c) the highest

4. 84 per cent of people who came before a jury trial belonged to the ...
age group (18-45) and 6 were under age.

a) active b) activier c) less active

5. The number of suspended sentences given by jury trials is considerably
... than by ordinary courts.

a) less b) little c) least

IV. Choose the correct word to fill in each gap.

1. In the eyes of practicing lawyers, jury ... are more an instrument for
defending an innocent person than punishing a criminal.

a) jurors b) circumstances  c¢) trials

2. Only 20% of cases that came to jury trials concerned bribery, economic
crimes, road ... with serious consequences and other offences.

a) accidents b) respondents ¢) demonstrates

3. The Appeals Chamber of the Supreme Court of the RF checks the
verdict only in regard to its compliance with the ... and the fairness of the
penalty.
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a) income b) judge c) law

4. The Procurator’s Office supervises the legality in the activities of all
law enforcement agencies, investigates crimes and prosecutes... .

a) the administration of justice ~ b) criminals ¢) criminal law

5. The Supreme Court of Russia does not have the right of judicial ... .

a)review  b) interpretation of laws ¢) initiative

Test 5. Variant 1

I. Choose the correct question to the answer.

1. No, I don’t. I do not interview witnesses yet.

a) Do you interview witnesses now?

b) Do you interview witnesses or interrogate suspects now?

c¢) Does your fellow student interview witnesses now?

2. John does.

a) Who ferrets out serious crimes?

b) Can John ferret out serious crimes?

¢) Is John an interrogator?

3. Yes, there are.

a) Are the salient features of the criminal difficult to identify?

b) Are there four stages in the process of a crime scene search?

c) Why are there no fingerprints when it is natural to find them?

4. He usually tries to reconstruct the happening and make an estimate of
the situation.

a) How does he conduct crime scene survey?

b) I know your friend works as an instructor, doesn’t he?

c) Who is he?

5. Yes, he can. He does it very well.

a) What crimes does he most often deal with?

b) Does he substitute interrogation for an investigation?

c¢) Can your friend define crime quickly and accurately?

II.  Choose the correct variant of translation of the sentence.

1. In case a witness does not reveal the information, Joe tries to persuade
him not to shirk his duty as a citizen.

a) B ciayuae eciu cBugerens He coobmaer uHdopmaiuto, J[>ko nerraercs
yOeIUTh €ro HEe YKJIOHSITHCA OT €ro 00s3aHHOCTEN IpakIaHNHA.

b) B cirydae eciii cBUAETENb HE MOXKET COOOIINUTh HHpOpMaLHio, J[Ko He
MbITaeTCs YOEUTh €r0 UCIIOJIHUTD €r0 00513aHHOCTh KaK Tpa)IaHNHA.

2. He must not only solve crimes but also prevent them.

a) OH JoDKEeH HE TOJBKO pacKpblBaTh NPECTYIUIEHUS, HO W
MIPEAyNPEXKIaTh UX.

b) OH HE JOMKEH pacKphIBaTh MPECTYTUICHUSI, HO BCETIa MPEeaynpekIaTh
uX.
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3. The salient features of the police officer can do nothing but help him in
obtaining good results in the investigation.

a) XapakTepHble OCOOEHHOCTHU TMOJIUIIEHCKOTO HE MOTYT HE MOMOYb €My
JTOOUTHCSI XOPOITUX PE3YIHTATOB B paccieOBaHUH.

b) OTu oTIMUYUTENBHBIE OCOOCHHOCTH TOJHUIIEHCKOTO MOTYT HE MOMOYb
eMy TOOUTHCS XOPOIIUX Pe3yJIbTATOB IIPH TOTPOCE.

4. There is still no complete agreement by psychologists on the validity of
these methods.

a) Bce elie HET MOJIHOTO COTJIACHS MICUXOJI0TOB 00 00OCHOBAHHOCTH ITHX
METOJIOB.

b) Ilcuxomoru He nanu coraacue UCIOJIb30BaTh 3TOT METO/I.

5. The evidence is useless in the case.

a) YIMKa MOKeT OBITh UCITOJIB30BaHa IS PACKPBITHS MPECTYILICHUS.

b) Orta ynauka Oecrojie3Ha B yTOJIOBHOM JIEJI€.

III. Choose the correct word to fill in each gap.

1. The crime scene is the place where crime such as burglary, ...,
homicide, etc. takes place.

a) clues  b) identity c) larceny

2. At the final part of the observation the investigator packs the ... of
the crime for a crime laboratory.

a) guilt b) traces c) support

3. The investigator must give first ... to a victim if it is necessary or call
an ambulance.

a) aid b) prosecution c) visible means

4. To conduct a crime scene search properly the investigator analyses
operational conditions, makes an ... of the situation, develops a definite way of
doing his job.

a) law  b) techniques c) estimate

5. At the preliminary stage of general observation, the investigator takes
measures ... any suspect or suspects.

a) cautions b) to detain c) ferret out

6. The ... of interrogation can be any person who has relevant
information concerning the case.

a) court b) prosecuting c) subject

7. The success of any interrogation primarily ... on the efforts and

specialized abilities of the investigator.

a) depends b) be ashamed of c¢) is unlikely to give

8. Without ... the truth it will be impossible to solve the crime.

a) discovering b) any wrongful act c) a sentence

9. The object of interrogation is to develop evidence of guilt, to prove the
guilt, ... the person responsible for the crime.

a) assault b) the crime scene c) to punish
10. The interrogator should neither ... nor intimidate the witness.
a) threaten  b) determining ¢) in the vicinity
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Test 5. Variant 2

I. Choose the correct question to the answer.

1. Yes, they do. They are known collectively as forensic science.

a) Good forensic scientists are able to help solve most crimes, aren’t
they?

b) Who is able to handle evidence?

c¢) Do modern-day criminal investigations commonly employ many

modern scientific techniques?

2. Jacob did.

a) Who of us detected serious offences?

b) Could Jacob ferret out any serious crimes?

c) Jacob is an operative, isn’t he?

3. Sure. Assault may also appear to have been part of other crimes.

a) What scientist studies assault as a crime in Russia?

b) Between what people are assaults known to arise?

c¢) Do you think assault overlap with an attempted crime?

4. No, it did not. It showed no signs of having been touched.

a) What signs does the safe show?

b) Who has signed it? The CEO?

c) Did the safe have any traces of being broken into?

5. Yes, there are.

a) Does the law of criminal procedure regulate the modes of
apprehending, charging, and trying suspected offenders?

b) There are different methods of prosecuting offenders, aren’t there?

c) Are they being tried?

II.  Choose the correct variant of translation of the sentence.

1. The search for the identity of the burglar should begin at the very outset
of an investigation.

a) B Hauasne pacciegoBaHus MPOBEICH OCMOTpP IpaOUTEIs.

b) Ilouck nu4HOCTH TpabUTENs JNOHKEH HAYMHATHCS C CaMOro Havaja
pacciieJOBaHMsI.

2. A suspect may be away from his usual place at the time the burglary
was committed.

a) [Togo3peBaeMblil MOXKET HAXOIUTHCS BJAJIA OT CBOETO OOBIYHOTO MECTa
B MOMEHT COBEPIIECHUS KPAKU CO B3JIOMOM.

b) [loxgo3peBaemblii HaBepHsIKa OyJIeT HAXOAUTHCS B APYTOM MECTE MOCIe
TOT0, KaK COBEPIIUTCS Kpaxka cO B3JIOMOM.

3. If the evidence allows presumption of guilt, the case is ready for
prosecution and arrest.

a) Ecam ynuky [0OMyCcKaOT MPE3yMINIUAIO BHHBI, JI€I0 TOTOBO K
CyZIeOHOMY TPECIIeIOBAaHUIO U apecTy.

b) Ilockonbky BHHA JI0Ka3aHa, CyJaeOHOE IpecieOBaHUE MNPUBEIO K
apecry.
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4. The corpus delicti is usually easily proved by the evidence obtained
from the victim.
a) CocTaB MpecTyIICHUS T0Ka3bIBACTCS TIOKA3aHUSIMHU, MTOJyICHHBIMH OT

JKEPTBBL.
b) JlokazarenbCcTBa MOTEPHEBIIETO MOTYT BCerga MOATBEPIUTH
IIPECTYIUICHUE.

5. He takes active measures to detect the offender that is to identify, locate
and apprehend the suspect or criminal.

a) UtoObl OOHApYyXUTh MNPECTYIMHUKA, B TOM 4YHCJIE YCTAaHOBHUTH €ro
JUYHOCTh, 0OHAPYKHUTH U 33/ICPXKATh €ro, OH JIEHCTBOBAII YHEPTUYHO.

b) OH mpuHUMaeT aKTUBHBIC MEPHI MO OOHAPYKEHUIO MPECTYMHHUKA, TO
€CTh IO BBISBIICHUIO, OIPEACICHUI0 MECTOHAXOXKIACHUS U 3aJepKaHUIO
MI0JT03PEBACMOT0 MJIH MPECTYITHUKA.

II1. Choose the correct word from the box to fill in each gap.

1. The investigating process very often depends on the ... of physical
evidence found at the scene.

a) accusation b) police actions c¢) discovery

2. The ... is the central location toward which all evidence points before,
during and after the crime.

a) entrance to the scene b) scene c) taking pictures

3. Preparations for ... an offence may be made in one country while the
actual offence is committed in one or more countries.

a) exchanging b) behaviour c) committing

4. Some offences are covered by international conventions, for instance,
currency counterfeiting (1929 Convention), ... in human beings and the
exploitation of prostitution (1949 Convention), and drug trafficking (1988
Convention).

a) traffic b) hijacking c¢) laundering

5. The efforts to ... crime were not unsuccessful in our society.

a) prevent b) protect c) apprehend

6. The two very important aspects of the problem are — crime prevention
by effective ... and crime prevention as a moral problem.

a) law enforcement  b) to overcome crime  ¢) recidivism

7. Organized crime operates on fear, bribery and ... .

a) force b) law and order c) safety

8. Corpus delicti must be established, the ... must be identified and

associated with the crime scene.

a) interrogator b) witness c) defendant

9. The officers of our police have always displayed ... and heroism in
the fight against enemies of our state during the Great Patriotic War as well as in
the years of peaceful construction.

a) innocence b) courage c) fugitive

10. Identification is best established by ... if they were taken before death.

a) wound b) fingerprints c) trade marks
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PA3JIEJI 3. KJIIOYN HA CAMOIIPOBEPKY

Kuarun k Pazneny 1. TecTbl Ha onpeje/ieHre YPOBHSA OCTATOYHbIX 3HAHU I

Tect 1 JIBa ciaoBa, mnpeacraB/JieHHbIX B BapuaHrax a), b),
MPOU3HOCATCHA OJAMHAKOBO, HO HMEIT pa3Hoe 3HaueHHe M opdorpaduio
(omo¢donbI). BbiOepuTe NpaBUIbHbII BAPUAHT.

l.a,b 9.a,b
2.a,b 10.b, a
3.a,b I1.a,b
4.b,a 12.a,b
5.b,a 13.b,a
6.a,b 14.b, a
7.b,a 15.a,b
8.b,a

-

Tect 2 H3yunte Hanucanue ing-GpopMbl AHIJIMHICKOrO IJaroJja
BbIOepHUTe BEPHbII BAPUAHT.

9.b

10.b
11.b
12.a
13.a
14.b
15.a

XN B =
oy oo oo

Tect 3 3yuuTe cTeneHU CPaBHEHHsl MpUJaratejbHbIX M BblOepuTe
BEPHbLIA BAPUAHT.

l.c 7. a
2.a 8.b
3.¢ 9.a
4.d 10.c
5.d 11.a
6.d 12.b
Tect 4 BoiOepuTe BepHbI BAPUAHT.

l.c 16.c
2.a 17. a
3.b 18.a
4.b 19.b
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5.c 20. ¢
6.b 21.b
7.b 22.a
8.¢C 23.¢c
9.a 24. ¢
10. a 25.b
11.c 26.c¢c
12.b 27.b
13. ¢ 28.a
14.b 29.¢c
15.b 30.a

Kuroun k Pazneny 2. TecTbl 1jisi TPEHMPOBKH U IPOBEPKH
YCBOEHUSI MaTepuasia npodeccuoHAJIbLHO OPUEHTHPOBAHHOIO Kypca
HHOCTPAHHOIO A3BIKA

Test 1. Variant 1 Test 1. Variant 2 Test 1. Variant 3
Choose the correct item. Choose the correct item. Choose the correct

item.
1. b 1. a I. b
2. b 2. a 2. ¢
3. a 3. ¢ 3. ¢
4. ¢ 4. b 4. ¢
5. b 5. ¢ 5. ¢
6. ¢ 6. a 6. a
7. a 7. ¢ 7. ¢
8. ¢ 8. a 8. a
9. b 9. a 9. b
10. ¢ 10.c 10. b
11.¢c 11.c 11.a
12.a 12.a 12. ¢
13.b 13.c 13.a
14.b 14.c 14.b
15.b 15.¢c 15.b
16. a 16.c 16. c
17.a 17.b 17.b
18. b (1732-1799) 18.a 18.a
19.b 19.b 19.b
20.a 20.b 20.b
21.¢ 21l.c 21.a
22.b 22.a 22.b
23. ¢ 23.a 23.a
24. ¢ 24.b 24. ¢
25.b 25.b 25.a
26.c¢c 26.b 26.b
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Test 2. Variant 1
Grammar
. Fill in the correct item.

SIS S0 BR LD ==

O o0 o0 o6 o

13.
14.c
15.b

Vocabulary

. Choose the correct word.
. proof
. donkeys
. hungry

. heavy jackets
. opposite
. Choose the correct item.

BPLORD—RUORLD SR LN =

0 o0 D Mo oo O

C

217.
28.
29.
30.
31.
32.
33.
34.
35.

ill in the missing preposition.

O M Yo OO0 o o

27.b
28.¢c
29.b
30.a
31.b
32.a
33.b
34.b
35.¢c

27.
28.
29.
30.
31.
32.
33.
34.
35.

OO0 08 O o

4. Match the English words to the
corresponding Russian equivalents.
1.6

QLA
WA QDN W

7.

Communication

1. Choose the correct word to fill in
each gap.

l.a

RSN
o0 oo

2. A. Use numbers to write the time.
a It’s a quarter to three.

b It’s half past eight.

¢ It’s five to one.

d It’s twenty-five past six.

B. Use numbers to write the
numerals.

1.1.265.013

2.3.038

3.58.927.004

C. Use numbers to write the date.
1.07.07.1900

2.31.12. 2007

3.05.11.1901
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o® e oo

0.c
Test 2. Variant 2 4. Match the English words to the
Grammar corresponding Russian equivalents.
1. Fill in the correct item. 1.7
l.a 2.5
2.b 3.2
3.¢c 4.4
4.¢c 5.3
5.b 6.6
6.b 7.
7.c Communication
8.¢c 1. Choose the correct word to fill in
9.c each gap.
10. ¢ I.a
11.a 2.c
12.c 3.b
13. ¢ 4.b
14.b 5.
15.b 2. A. Use words to write the time.
Vocabulary a half past two
1. Choose the correct word. b a quarter to six
1. opposite c twenty past one
2. headache d five past nine
3. 1s shining B. Use numbers to write the
4. witnesses numerals.
5. green fields 1.3.423.011
2. Choose the correct item. 2.8.133
1.b 3.98.512.014
2.b C. Use numbers to write the date.
3.b 1.30.06. 1600
4.a 2.22.01. 2001
5.a 3. 04.08.1908
3. Fill in the missing preposition.
l.a
2.b
3.b
4.a
S5.c
6.c
7.a
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.C

10. ¢

Test 3. Variant 1 Test 3. Variant 2 Test 3. Variant 3

Choose the right item.  Choose the right item.  Choose the right item.
1. ¢ 1. ¢ 1. ¢
2. a 2. ¢C 2. a
3.b 3. ¢ 3.b
4. b 4. a 4. ¢
5.b 5. ¢ 5.b
6. b 6. b 6. c
7. b 7. ¢ 7. a
8. a 8. a 8. b
9. b 9. b 9. a
10.a 10.a 10.a
11.b I1.a 11.b
12.a 12.b 12.b
13.c 13.b 13.b
14.a 14.c 14.c
15.b 15.a 15.c
16.b 16.b 16.b
17.c 17.b 17.c
18.c 18.b 18.c
19.c 19.b 19.b
20.c 20.c 20.b

Test 4. Variant 1

I. Choose the II. Choose the II1. Choose the IV. Choose the
correct variant correct variant of correct variant of correct word to

of the modal translation. the adjective. fill in each gap.
verb.

l.a 1.b l.c l.a

2.c 2.c 2.c 2.c

3.¢c 3.a 3.c 3.b

4.b 4.b 4.a 4.a

S.c S5.c S.c S.c

Test 4. Variant 2

I. Choose the II. Choose the II1. Choose the IV. Choose the
correct variant correct variant of correct variant of correct word to

of the modal translation. the adjective. fill in each gap.
verb.

l.a l.c 1.b l.c

2.b 2.a 2.c 2.a
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I. Choose the
correct question
to the answer.

l.a
2.a
3b
4.a
5.c

I. Choose

the correct
question to
the answer.

3.b 3b
4.a 4.b
5.b 5.a

Test 5. Variant 1

II. Choose the III. Choose the
correct variant correct word to
of translation of fill in each gap.
the sentence.

l.a l.c
2.a 2.b
3.a 3.a
4.a 4.c
5b 5b

Test 5. Variant 2

II. Choose the III. Choose
correct variant of the correct
translation of the word to fill

sentence. in each
gap.

1.b l.c

2.a 2.b

3.a 3.c

4.a 4.a

5b 5.a
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TECTOBBIN KOHTPOJIb 3HAHUM TP OBYUYEHUU
[TPOD®ECCUOHAJIBHO OPUEHTUPOBAHHOMY KVPCY
MHOCTPAHHOT'O S3bIKA
B OBPA3OBATEJIBHBIX OPTAHU3ALIMSIX MBJI POCCUU

VYyebHo-IpakTHYecKoe nocooue

Penakrop
JI. 1O. KoBanbckast
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Otneuyarano B HUuPUO Boctouno-Cubupckoro uacruryra MB/] Poccun,
r. Upkytck, yi. JlepmonTosa, 110.
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